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Final exam, Mar. 16, 2013 Name: 5 . (7‘ ‘0551’\

Math 527, University of New Hampshire Section: :
solutiong

INSTRUCTIONS: PLEASE READ CAREFULLY

. Write your name and section number above. Two points deducted for either if missing or illegible.

. Always write equations.

Show your work and put a box or circle around your answers.

Final answers should be simplified as much as possible.

. Partial credit will be given only if your work is written clearly and in equations.

. If you have time, check your answers by differentiation and substitution.
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Problem 1: (20 points) Find the general solution of the differential equation.
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Problem 2: (15 points) Find the general solution of the differential equation.
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Problem 3: (20 points) Find the solution of the initial value problem.
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Problem 4: (15 points) Find the general solution of the differential equation as a power series centered

about £ = 0. Simplify your answer as much as you can.
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Problem 5: (15 points) Find the general solution of the differential equation. Express your answer in
terms of real-valued functions.

x = -3 2 x : ,I‘A& ‘ k= (-->° QB
det (A»w_\(;é )

|

<

dot {-z-x > B: ) = (3N - )= o
B (>\+'Q(>\+l> +23 = o
w4\ + 5= 6
W -4t lb-20

|
%

1
{
¢
s
o
]

A

0

L
&

-

SO Lor X:—}"LL/ y_:(g‘\’ - (1) . (O>(’
|+ 1 - \

real PL\-\— '\V‘Mls ?a,l“’

L e c eg-au‘\’c (Q_‘) . (36(—34){7(‘«&}

1+ -1

4 mf’tﬁ( QV\M

- ) 2t
(\3 COﬁ‘t - (O\ 61%'{'} G t + (o {7( T) WS ‘{ + (T) S‘W\t] e
LY \

‘ | VA{'LVq\Wﬂ J/\
HO"L'. 3\/OUN' 35’\»“!0‘“ m‘(Sk+ look o@v("{uw{‘ lﬁtd' S‘hH “o ¢ orwn
be cortect, de,d;.wu(\ws en how you chese 4o

So\vt -@r thoe Co—ynpanm4s (&“\ 6-\C e wiﬁem/u;wlof VA



Problem 6: (10 points) Read the questions carefully and answer them. Please do not ask for any kind
of help on these questions during the exam.

(a) For what region of = will the series solution of Problem 4 converge?
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(b) True or false: The general solution of a second-order nonlinear differential equation is an arbitrary
linear combination of its two linearly independent solutions.
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(c) Write down the general solutions of the following differential equations. You do not need to show
your work. )
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